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N/A 0 100 = 1 (unità) 1 = 20 0

3 103 = 1.000 (migliaia) 1.024 = 210 10

6 106 = 1.000.000 (milioni) 1.048.576 = 220 20

9 109 = 1.000.000.000 (miliardi / billions) 1.073.741.824 = 230 30

12 1012 = 1.000.000.000.000 (trilioni) 1.099.511.627.776 = 240 40

15 1015 = 1.000.000.000.000.000 (quadrilioni) 1.125.899.906.842.624 = 250 50

18 1018 = 1.000.000.000.000.000.000 1.152.921.504.606.846.976 = 260 60

21 1021 = 1.000.000.000.000.000.000.000 1.180.591.620.717.411.303.424 = 270 70

24 1024 = 1.000.000.000.000.000.000.000.000 1.208.925819.614.629.174.706.176 = 280 80


